
Simple Installation Instructions 

Flush Bottom  
Panel Style 

Picket Bottom 
Panel Style 

Screw Placement 

Screw Placement 

Figure 1 

Figure 2 

Step 1 
Insert 3’ section of Puppy Guard to yard side 
of your installed fence section as shown in 
Figure 1. Bottom pickets on Puppy Guard 
should rest on bottom horizontal rail of 
installed fence section. Horizontal rail ends on 
Puppy Guard should meet at center of center 
vertical picket on installed fence section.  
Attach using 4 - #8 x ½” self tapping screws. 

Step 2 
Insert second 3’ section of Puppy Guard 
opposite installed section of Puppy Guard 
as shown in Figure 2. Bottom pickets on 
Puppy Guard should also rest on bottom 
horizontal rail of installed fence section as 
instructed in step 1. Make sure horizontal 
rails ends on both sections of Puppy Guard 
meet on center of vertical picket on 
installed fence section before attaching. 
Attach using 4 - #8 x ½” self tapping screws. 
 
 

PATENT PENDING 

Included In Box: 
•2 – 3’ Puppy Guard Panels (if purchased) 
•2 – 3’ Puppy Guard Strips (if purchased) 
•#8 x ½” Self-Taping Screws 
 

Needed For Installation: 
•Power Drill w/ #1 Phillips Screw Bit 
•(Optional) Jigsaw for Trimming 
 

 
 



Simple Installation Instructions 

Screw Placement 

Screw Placement 

Figure 3 

Figure 4 Figure 5 

Step 3 
This step is only required when Picket 
Bottom Style Fence is installed in your yard. 
Install Puppy Guard Strip (sold separately) at 
bottom of extended pickets of installed 
fence as shown in Figure 3. Strip should be 
located between bottom of horizontal rail 
and bottom of pickets of your installed fence 
section as shown. 
Attach using 2 - #8 x ½” self tapping screws. 
 
 
 Step 4 
Install second Puppy Guard Strip opposite 
first installed Puppy Guard Strip as shown in 
Figure 4. Make sure ends of Puppy Guard 
Strips meet on center of vertical picket on 
installed fence section. Attach using 2 - #8 x 
½” self tapping screws. 
Figure 5 Below shows how Puppy Guard can 
rack to installed fence by adjusting rails. 
 
 

For questions regarding installation please call 1-866 NEED FENCE 

PATENT PENDING 


